Skillswise N2/L1.1

Spotting improper fractions - answers

An improper fraction, or top-heavy fraction, is one that has a top number that’s larger than the
bottom number. They’re called improper fractions because they all larger than 1

1 2
3
2. 2
13
3 z X Tis an improper fraction because the top is greater than the bottom.
6 6
5. 1
12
5. g X g is an improper fraction because the top is greater than the bottom.
15 15 . . . .
6. 3 X 13 IS an improper fraction because the top is greater than the bottom.
;58
20
8. % X % is an improper fraction because the top is greater than the bottom.
9 3
4
24 24 . . . .
10. T X T, IS an improper fraction because the top is greater than the bottom.
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